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RESISTOGRAPH

AE acoustic emission

FAKKOP

PILOTYN

0.30
m?2 m cm/m2 cm/m?2
2 49.69 19.57 39.4 15.0 2.62
1 83.22 37.53 45.1 29.0 1.56
2 49.69 18.20 36.6 15.0 2.44
1 83.22 37.53 42.5 29.0 1.46
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m m m m
) X 2.73 3.22 0.49 461 0.10
Y 4.55 3.87 0.68 4.78 0.15
X 3.57 4.54 0.97 4.87 0.19
1
Y 6.38 5.25 1.17 5.02 0.24
. A=0.8
. B=1.0
1
. C=——— (1.0 C 0.5
3.33R, +0.50
o D=15
1 ZaIB +Zﬂ|T
1.5 L,
- F=09
0.202 0.85 1.58
0.90 0.97
0.154 0.99 1.70
Co=1.0
19
d 2 S[
Q4 = Rg Fes Qua
Rg 1.0
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Fes

Qud
St Ry = 1/180
E,=Eo Ry Ry
Euo R=1/15 0
Rb 1.0
Rd 1.0
Fes
(kgf/m) Qd (kgf m)) Eu (kgf m)
2 1.00 | 260,933 538 587 1.09
X
1 1.15 | 500,400 1,728 1,275 0.74
2 1.00 | 242,677 579 618 1.07
Y
1 1.30 | 471,200 2,359 1,201 0.51
2
2
T¢=15T,
W; (KN) | =w; (kN) o G Qei(kN)
2 126.1 126.1 0.355 0.260 32.8
1 229.6 355.7 1.000 0.200 71.1
X Y
(m) (kN/mm) (kN) (m) (kN/mm) (kN)
19.57 2.38 57.6 18.20 2.22 53.5
37.53 4.57 110.4 35.34 4.30 104.0
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VD 150m/s

k kK
4 048+052N
T=2r M
Keg
X T=0.69(s), Td =1.04 (s)
Y T=0.71(s), Td =1.07 (s)
n=4n=15
Ki Ci Si pi sipi | Whl/W, Yi
2 1.60 0.79 0.159 0.615 0.921 0.856 0.461 2.17
X
1 1.00 1.52| 0.658 1.000 1.000 1.856 | 0.539 1.86
2 1.60 0.78 0.161 0.623 0.910 0.909 0.476 2.10
Y
1 1.00 1.52| 0.658 1.000 1.000 1.909 | 0.524 1.91
M
_ &1 (mm) Ri (rad.)
Ui
2 6.43 5.29 127.8 1/23
X
1 3.92 3.61 87.3 1/33
2 7.17 5.78 139.6 1/19
Y
1 4.06 3.71 89.5 1/30
2 Y 1/19 2 1/30
2
24 2.6 1
X
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Qs

1/30
bsi
h =5.8 (m)
h A=1.0
N
2h(0.02+0.014) ,Z;‘mj
s :1+<*/_‘_a‘2)1+ 3h(0.02+0.011) my

N

>m

2h(0.02+0.014) =
by =1+ o a0 - + a‘z*l)1+ 3h(0.02+ 0.012) ] m

bsi
~mi (t) i bsi
mi(t)
2 12.86 12.86 0.355 1.303
1 23.41 36.27 1.000 0.893

(m) (m) (kN)
2 0.069 0.166 51.01
1 0.097 0.097 110.42
Qsn
Mus As Ts
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us N

D m &3

i=1

ZN:mi 53
i=1

AS:I

Zmi g

i=1

[ A
Tg=27 M =2
Qs

3i (m) dsi (m) mi (t) mi Jsi mi Jsi?
2 0.069 0.166 12.86 0.89 0.35
1 0.097 0.097 23.41 2.26 0.22
36.27 3.15 0.57
Mus = 17.36 (t) 0.479
As = 0.18 (m)
Ts = 1.06 (s)
h
h=y|1-—1 |+005
'\[Df
Df — AS Qd
Ad Qs
_ 15
" 1+10h
vy1=0.25
Dfr=3.78 h=0.147 Fn=0.607
Gs
Ts = 1.06>0.864 (s) Gs = gv = 2.025
Bsi
Ts = 1.06>0.16 (s) , p=0.85
M.
Me _ 9479 0.75 q:o.75Z L =1.567
dMm, s
M
By = pa———bg
>om
i=1
Psi
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Pg =(32+30T,)m B4 F, ZG, 0<T,<0.16

1/180

As = 0.030(m)

34

=8m, By F,, Z G, 0.16<T,<0.64
_512m By F, ZG, 084<T,
TS
Qsn
Psi an
mi(t) bsi Bsi Psi (KN) | Qsni(kKN) | Qui/Qsni
12.86 1.303 0.831 63.32 63.32 0.806
23.41 0.893 0.569 78.96 142.28 0.776
1.5 X
0.8
Gs 2.025
bsi
(m) (m) (kN)
2 0.014 0.030 34.01
1 0.016 0.016 73.61
di (m) dsi (M) mi (t) Mmi Jsi mi Jsi?
2 0.014 0.030 12.86 0.18 0.01
1 0.016 0.016 23.41 0.38 0.01
36.27 0.56 0.02
Mus = 17.52 (t) 0.483




Ts = 0.55 (s)

Gs
Ts = 0.55<0.64 (s) Gs=1.5
Buai
Ts = 0.55>0.16 (s) , 2 p=0.85
M
Mu _ 0483 075 q=o.75Z =1.553
ZMi ud
an
mi(t) Bui Bui Pdi (KN) | Qadni(KN) | Qyi/Qani
2 12.86 1.303 0.831 25.64 25.64 1.326
1 23.41 0.893 0.569 31.97 57.61 1.278
1.3
3
(sec)
X Y
1 0.497 0.514
2 0.243 0.251
(kN) (rad)
2 91.3 1/12
X
1 155.0 1/15
2 87.4 1/12
Y
1 153.1 1/14
1/30
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